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2y 0.73% (+0.4bp)
10y 1.59% (+0.3bp)

30y 231% (-0.5bp)

[7|Et 10YE]

¥z 0.61% (-6.0bp)
=9l -0.07% (+0.2bp)
ZZA 015% (-0.2bp)

O|Etz|oF  1.12% (-1.6bp)
AT QI 0.98% (-2.5bp)

d2|A  814% (+2.2bp)
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DOW30 18529.29 (-0.08%)
NASDAQ 5213.14 (-0.15%)
S&P500 2180.89 (-0.09%)

NIKKEI225  16650.57 (+2.44%)

SHANGHAI 3004.28 (+0.93%)

FTSE100 6809.13 (+0.23%)
DAX30 10432.36 (+0.63%)
CAC40 441546 (+0.11%)
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SE2/¢2 1.1088 (+0.0003)

2/ 113.58 (+0.66)

e/ 102.44 (+0.65)

=e/2Iet  6.6615 (+0.0209)

o2E/"8  1.30379 (-0.00291)
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WTI 43.02 (+2.92%)

COMEXE 134130 (-0.20%)
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AAm 2031.12 (+0.65%)

TAE 696.43 (+0.05%)

21/t 1108.30 M YUH| -2.109

*KTB: 111.01, M YH| -8El
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3y 1.246%  (+2.1bp)

Sy 1.273%  (+2.7bp)

10y 1429%  (+4.1bp)

CcD 1.360%  (Obp)

7. EC-Ag AThE

3y -1.9bp (+0.4bp)

Sy -3.1bp (+0.3bp)

10y -12.9bp  (-0.1bp)
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1Y 1.2675% (+1.75bp)
2Y 1.2275% (+2.00bp)
3y 1.2300% (+2.75bp)
5Y 1.2450% (+3.25bp)
7Y  1.2600%  (+3.75bp)

10Y  1.3000% (+4.00bp)

12Y  -400 (+0.25bp)
2*3Y 025  (+0.75bp)
2*sY 175  (+1.25bp)
3*5Y 150  (+0.50bp)
5*7Y 150  (+0.50bp)

5*10Y 550 (+0.75bp)
*CRS 2|

1Y  1.2100% (+2.5bp)
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(+3.0bp)

1.0800%

2Y

(+3.5bp)

1.0300%

3Y

(+4.5bp)

0.9700%

5Y

(+4.5bp)

0.9550%

7Y

0.9400% (+4.5bp)
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O0]2-72 NFIBAZ|QLFBK|Z (0]F:94.5, 0fAH94.7)

-6 LOjX) 1 (MoM) (0]7T:0.1%, 0f 4:0.1%)

-227| B3 HE(QoQ) (0]7H:4.5%, 0f:1.8%)

-2&27| Hls Y 48(QoQ) (0]7H:-0.6%, 0f&4:0.4%)

Z=-72 CPI(MoM) (0] ™:-0.1%, 0| A:0.1%)

-7€ PPI(YoY) (0| H:-2.6%, 0 4}:-2.0%)

F=-6E Mz=YdLH(MoM) (0]7H:-0.5%, 0f| &:-0.2%)

-6 tHd+H(MoM) (0]7H:-0.5%, 0f&:0.1%)

=2-68 R (07:22.28, 01 &:22.4B)




